
Installation instructions
Rada fitting adapter (item no. 101568)

Compatible with AS WALLSHOWER comp water filter and Rada shower heads  
VR105/VR106, VR115, VR125, VR145

A-A ( 1 : 1 )
A

A

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

1 

A3

State Change Date Name

This document is confidential. It may not be copied - partly or in total -, deublicated or shown to third parties without our written
agreement. It is property of Aqua free GmbH. The receiver of this document may use it only for the purpose it was given to him.

Material: Scale:

Aqua free GmbH

gen. tol. DIN 2768-mK ISO 8015

Project

06.02.2018

 √Ra=1 : 2

47
,0
0


55

,5
0



39,20

63
,0
0



55,90
G1/2 IG

4,50

63
,0
0



G1/2 IG

Gewindestift M5x20

	 Installation must be carried out by qualified technical staff. 

	 Follow the instructions of the shower head manufacturer (Rada).

1	 Material supplied and tools needed

2	 Installation instructions
1.	 Detach the Rada shower head from the wall using hex key size 2.5.
2.	 Detach the spray plate of the Rada shower head using hex key size 3. 
3.	 Remove the flow restrictor and strainer using hex key size 12.
4.	 Place the mounting adapter on the shower head and fix it firmly with the screw  

supplied (hex key size 3).
5.	 Screw the AS WALLSHOWER comp shower filter into the adapter. 

Follow the instructions for use of the filter.

6.	 Replace the Rada shower head on the wall and fix with hex key size 2.5. 

3	 Technical data: Rada fitting adapter

Max. operating pressure 5 bar 
Rada adapter, filter connection G½‘‘ female thread
Material POM, white

4	 Storage and disposal conditions

In
st

al
l-R

ad
a 

A
da

pt
er

-G
B

-0
5/

20
18

-V
00

1

1 x Rada adapter 
1 x screw M4x20

Tools required:

1 x hex key size 2.5 
1 x hex key size 3 
1 x hex key size 12

PVC
A-A ( 1 : 1 )

A

A

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

1 

A3

State Change Date Name

This document is confidential. It may not be copied - partly or in total -, deublicated or shown to third parties without our written
agreement. It is property of Aqua free GmbH. The receiver of this document may use it only for the purpose it was given to him.

Material: Scale:

Aqua free GmbH

gen. tol. DIN 2768-mK ISO 8015

Project

06.02.2018

 √Ra=1 : 2

47
,0
0


55

,5
0



39,20

63
,0
0



55,90
G1/2 IG

4,50

63
,0
0



G1/2 IG

Gewindestift M5x20

A-A ( 1 : 1 )
A

A

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

1 

A3

State Change Date Name

This document is confidential. It may not be copied - partly or in total -, deublicated or shown to third parties without our written
agreement. It is property of Aqua free GmbH. The receiver of this document may use it only for the purpose it was given to him.

Material: Scale:

Aqua free GmbH

gen. tol. DIN 2768-mK ISO 8015

Project

06.02.2018

 √Ra=1 : 2

47
,0
0


55

,5
0



39,20

63
,0
0



55,90
G1/2 IG

4,50

63
,0
0



G1/2 IG

Gewindestift M5x20

Sieb

Gehäuse

n 55.90

39.20

n 4.50

Threaded pin M5x20

G1/2“female

n 5
5.5

0

n 6
3.0

0

strainer

housing


